S1: Local allometric equations for prediction of stem diameter at breast height (DBH) from
measured tree height (H). Graphs are presented for Norway spruce for 11 stream catchments.
Comparable number of samples were selected across all catchments and all tree height

categories.
Local DBH equations (spruce, ANE catchment)
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a=0065 b=1640 RMSE= 4.484
s = DBH = aHP .
a=0.051 b=1.933 RMSE= 4.641
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Local DBH equations (spruce, CER catchment)
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DBH = exp(aH +b)
a=0.050 b=2.038 RMSE = 3.848

————— DBH = aH® .
P a=0.688 b=1182 RMSE = 4.431
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Local DBH equations (spruce, LIZ catchment)

DBH = exp(aH +b)
a=0.055 b=1900 RMSE= 3.276

e e s DBH = aH®
a=0753 b=1125 RMSE= 3.523
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Local DBH equations (spruce, LKV catchment)
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s DBH = exp(aH +b)
T s a=0.063 b=1714 RMSE= 3.063
- SO e DBH = aHP
g a=0487 b=1266 RMSE= 3.630
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Local DBH equations (spruce, LYS catchment)

DBH = exp(aH +b)
a=0.073 b=1.821 RMSE= 3.995

————— DBH = aH®

a=1.002 b=1121 RMSE= 3.325
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Local DBH equations (spruce, NAZ catchment)

DBH = exp(aH +b)
a=0.044 b=2401 RMSE= 4.654

- e DBH = aH®

a=1051 b=1.096 RMSE= 3.828
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Local DBH equations (spruce, PLB catchment)

i DBH = explaH +b)
s a=0060 b=1971 RMSE= 4.398
e DBH = aH®
a=0.891 b=1120 RMSE= 4.983
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Local DBH equations (spruce, POM catchment)
T T T T T T

DBH = exp(aH +b)

a=0.051 b=2044 RMSE= 50911

- T DBH = aHP

a=0.265 b=1.450 RMSE = 6.294
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Local DBH eqg

uations (spruce, SAL catchment)

i
i / DBH = expl(aH +b)
e a=0.064 b=1623 RMSE = 2.499

= 7 e DBH = aH®

P a=0332 b=1.366 RMSE=2.798
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Local DBH equations (spruce, UDL catchment)

T T T T T T

DBH = exp(aH +b)
a=0.122 b=1595 RMSE= 2.875

***** DBH = aH®
a=2431 b=0.846 RMSE= 3.152
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Local DBH equations (spruce, UHL catchment)

DBH = exp(aH +b
a=0.085 b=1.786 RMSE= 2.540

***** DBH = aH"®
a=1.518 b=00997 RMSE= 2.624
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